

दिल्ली विकास प्राधिकरण

DELHI DEVELOPMENT AUTHORITY

उप-निदेशक कार्यालय, उद्यान खण्ड - तृतीय

OFFICE OF DY. DIR. HORT. DIV. NO. III

बी2बी, जनकप्री, नई दिल्ली-110058

B2B, JANAKPURI, NEW DELHI: 58



Dated: 15/1/2021

No. F54 (58) DD/Hort.-III/2020-21/DDA/ 45

To

M/s Mahesh Chand Gupta,

D-6/360, First Floor, Sec-6, Rohini,

Delhi- 110085.

Name of work: M/o Completed scheme of N/A-II under SWZ.

M/o Distt. Park along with NG Drain Opp. BG-6 Paschim Vihar.

Sub Head: S/S of Good earth, WDCM, Jamuna sand, Digging of holes, S/o Plants, Neem coated urea etc. at

PG Ref.: FDR/Bank Guarantee/Account No. 50300478943252 dated 03.12.2020 Amount Rs. 13,700/-from

HDFC Bank Ltd., Garg Plaza, Sector-8, Rohini, Delhi-110085.

Sir.

Your quoted item rates tenders for the above mentioned work has been accepted on behalf of DDA as under:

Estimated cost

Rs. 3,49,193.00

Contractor quoted Amount

Rs. 2,72,350.00

Rs. 2,72,350.00 (Rupees Two Lakh Seventy Two Thousand Three

Accepted tendered Amount

Hundred Fifty Only).

Percentage of tender

22.00% below.

Time Allowed

60 Days.

The percentage to be taken for the purpose of clause-12 shall be 22.00% below on rates based on DSR-2018. You are requested to attend the office to sign the agreement along with non-judicial stamp paper worth Rs.50/- within ten (10) days from the date of issue of this letter, failing, which the acceptance of tender is likely to be withdrawn and the earnest money forfeited. You are therefore, directed to contact the A.D. - II of this office and start the work at once. Please note that the time allowed for carrying out the work as entered in the tender still be reckoned after the ten days from the date of issue of this letter to commence the work. Your letter dated 18-12-2020 shall be part of the Agreement.

Dy. Director (Hort.) - III/DDA

Copy to:

- 1. Director (Hort.) NW, DDA.
- 2. Dy. Director (QC) III, DDA.
- A.O. (W) II, DDA.
- 4. A.O. (CAU) Dwarka, DDA.
- 5. Dy. Dir. Hort. II, V and Dwarka, DDA.
- 6: Income Tax Commr. W No. ____New. Delhi.
- 7. A.D.-II, Hort. Div.- III, DDA.
- 8. Comm. Sale Tax. NCT Delhi.
- 9. File Concern.
- 10. Agreement File.
- 11. DDA website https://eprocure.gov.in/eprocure/app or www.dda.org.in or cppp-nic@nic.in

Dy. Director (Hort.) - III/DDA



दिल्ली विकास प्राधिकरण उप-निदेशक कार्यालय, उद्यान खण्ड – तृतीय बी2बी, जनकपुरी, नई दिल्ली-110058



AWARD SCHEDULE

Name of Work: M/o Completed scheme of N/A-II under SWZ.

M/o Distt. Park along with NG Drain Opp. BG-6 Paschim Vihar.

S.H: S/S of Good earth, WDCM, Jamuna sand, Digging of holes, S/o Plants, Neem coated urea etc. at site.

	NIT No. 57/DD/HortIII/DDA/2020-21								
S. No.	Description of Work / Item(s)	Quantity	Units	M/s Mahesh Chand Gupta					
	Supply and stacking of good earth at site by including mechanical transport royalty and carriage, loading unloading with all leads to the control of the con			Rate	Amount				
1	royalty and carriage, loading unloading with all lead and lift. (Good Earth measured in stacks will be reduced for 2006 passess.)				· · · · · · · · · · · · · · · · · · ·				
	measured in stacks will be reduced for 20% payment)	16.00	Cum	300.00	4800.00				
	Try with Otderfilly (II Well decoved								
2	mechanical transport royalty and carriage and loading, unloading for all lead	54.00	Cum	200.00	10800.00				
3	Supply and stacking of Jamuna Sand at site by including mechanical	-							
	The state of the s	16.00	Cum	500.00	8000.00				
4	or project of the Stacking of Red Bairt at sife by mechanical transmit !!								
	The surrage loading, ullioading with all lead and life	8.00	Cum	800.00	6400.00				
	Earth work in excavation by mechanical means (Hydraulia Excavates)/								
_	ineals over areas (exceeding 30cm in denth 15m in width as well as 10-								
5	on plan) including disposal of excavated earth lead up to 50m and lift up to	150.00	Cum	150.00	22500.00				
	1.5m, as per direction of engineer-in-charge, 5 mtr. X 3 mtr. X 2 mtr. X 5	150.00	Cum	130.00	22300.00				
	Nos 150 Cum								
6	Supply of Chemical fertilizer Neem coated urea in 45 kg packing at site.	5.00	Bag	500.00	2500.00				
7	Supply of Chlorpyriphos 20% E.C (ISI) as per specification at site (Packing in	10.00							
-	one Ltr.)	10.00	Ltr.	100.00	1000.00				
	Digging holes in ordinary soil and refilling the same with the excavated earth				·				
	mixed with manure or sludge in the ration of 2:1 by volume (2 part of stacked								
8	volume of earth after reduction by 20%: 1 part of stacked volume of manure after reduction by 8%) flooding with water dressing including removal of								
	rubbish and surplus earth . If any, with all leads and lift (cost of manure.								
	sludge or extra good earth if needed to paid for separately).								
8.1	Holes 0.90 m. dia and 0.90 m. deep	50.00	ъ .	122.22					
8.2	Holes 0.60 m. dia and 0.60 m. deep	50.00	Each	120.00	6000.00				
8.3	Holes 0.45 m. dia and 0.45 m. deep	100.00	Each	40.00	4000.00				
9	Supply of Tree Plant:	1000.00	Each	15.00	15000.00				
	Providing and stacking of Bauhinia purpurea (Kachnar) of height 150-165 cm.	50.00 Each			3750.00				
9.1	in big poly bags of size 25 cm as per direction of the officer-in-charge.		Each	75.00					
9.2	Providing and stacking of Ficus shiela of height 150-165 cm. in big poly bags								
	of size 25 cm as per direction of the officer-in-charge.	50.00	Each	50.00	2500.00				
10	Supply of Shrub Plant:				WIE				
	Providing and stacking of Bougainvillea (Variety Butiana, Lady Mary Baring,								
	Mahara, Mohan, Scarlet Queen, Variegated, Glabra Formosa, Peruviana								
10.1	Odissi, Paratha, Subhra, Thimma, Spectabilis L.N Birla, Refulgens) of height	100.00	Each	40.00	4000.00				
	30 cm. to 45 cm. with 2-3 branches in 20 cm size of Earthen pots / Plastic		11.0-F						
	pots & as per direction of the officer-in-charge.								
10.2	Providing and stacking of Thevetia nerifolia of height 60-75 cm. with 5-6	100.00	Each	10.00	1000.00				
	branches in poly bags of size 25 cm as per direction of the officer-in-charge.	100.00	Each	10.00	1000.00				

-					
1	Supply of Hedge Plant:	T	T	T	
	Providing and stacking of Putranjiva roxburghii of ht. 45-60 cm in bag of size 15 cm as per direction of the officer-in-charge.	750.00	Each	10.00	7500.00
11.2	Providing and stacking of Clerodendrum inerme having ht. 25 cm to 30 cm multi branched in 20 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	1000.00	Each	10.00	10000.00
12	Supply of Ground Cover:				
12.1	Providing and stacking of Alternanthera species of height 15 cm to 20 cm, full of branches and foliage in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	500.00	Each	10.00	5000.00
12.2	Providing and stacking of Wedelia trilobata, full of leaves in 15 cm size of Poly bags & as per direction of the officer-in-charge.	1500.00	Each	10.00	15000.00
13	Engaging of J.C.B./Hydraulic excavator (3-D) with driver, fuel and helper etc. for cleaning of wild growth, removal of building rubbish, debris industrial	8.00	P/Day	6500.00	52000.00
	waste and refuse etc. as per direction of Engineer-in-charge. Supply of R.H. Pipe (ISI Mark is 444 type -II 25 mm dia) working pressure	200.00	meter	80.00	16000.00
14	10.2 F/Cm/2 at site. Supply of PVC Pipe (Delivery Hose) 3" dia should have working pressure of	150.00	meter	90.00	13500.00
15	-: /O + -: to	150.00	meter	9.5	
16	Provision of Cycle Rickshaw fitted with moter cycle tyre tube 28x11 with wooden trolly 36" x 48" x 15" with Neelam or equivalent kit made of 30 mm wooden plank supported with M.S. angle of same welded ciccres frame to be linked in side with 25 guage, M.S. sheet and internal side complete in all	1.00	Each	9100.00	9100.00
17	Petrol Driven Brush Cutter/Bush Cutter/Weed Cutter of STIHL Germany model No. FS 400 with engine displacement of 40.2 CC with the rated power output of 1.9 Kw/2.6hp dry weight 8.0 kg. overall length without cutting tool output of 1.9 Kw/2.6hz tre anti-vibration engine, elasto start, multi	1.00	Each	35000.00	35000.00
	function bike handle along with see for Brush Cutter of STIHL Germany make well	200.00	meter	10.00	2000.00
18	Nylon Line 3mm square shape to be better packing of 56 mtr yellow in colour.	3.00	qtl.	5000.00	15000.00
19	Provision of Galvanised steel Barbed Wire	3.00	1	Total	₹ 2,72,350.0
19	110.00				

Rupees Two Lakh SeventyTwo Thousand Three Hundred Fifty Only

Dy. Director (Hort.) Hort. Div.- III/DDA



दिल्ली विकास प्राधिकरण उप-निदेशक कार्यालय, उद्यान खण्ड — तृतीय बी2बी, जनकपुरी, नई दिल्ली-110058

Term & Conditions

Name of work: M/o complete scheme of N/A - II under SWZ.

M/o Distt. Park along with NG Drain Opp. BG-6 Paschim Vihar.

Sub Head: S/S of Good earth, WDCM, Jamuna sand, Digging of holes, S/o Plants, Neem coated urea etc. at site.

1. The work shall be executed as per CPWD specifications.

- 2. No T & P shall be issued by the department, all the arrangement for T & P shall be arranged by the contractor at his own.
- 3. The rates should be quoted in both figure and words including all taxes.
- 4. The undersigned reserves the right to reject all or the lowest rate tender without assigning any reason.
- All labour liabilities will be beard by the contractor during execution period, DDA will not have any responsibilities of the deployed labour.
- 6. DDA is not responsible for any litigation with labour in Court of Law & contractor will settle the matter on his own risk & cost.
- DDA will not pay any compensation to the labour of any miss-happening occurred during the execution of work.
- 8. If any material is rejected or work found defective, the same shall be removed/rectified by the contractor within one week failing which the same shall be removed/rectified by the department & cost will be recovered from the agency as approved by the Competent Authority.
- 9. The quantity can be increased or decreased as per actual requirement at site.
- 10. No manpower shall be engaged by the agency below 18 year or above 60 years in age.
- 11. The instructions of the department staff are to be carried over properly, in case of any difference of opinion/interpretation of specification and condition the matter is to be referred by the contractor to the Officer-in-charge for his decision with shall be final and binding.
- 12. All incident charge of any kind whatsoever including cartage, storage, cutting and wastage etc. shall be born exclusively by the contractor and no claim to be entertained to this effect.
- 13. The contractor must be available at site of work whenever Officer-in-charge will visit the site.
- 14. The work should be completed within stipulated period.
- 15. The PH value of good earth and pressure report of R.H. Pipe should be got tested from authorized laboratory on contractor cost.
- 16. The material like good earth, CDM should be free from kankar-pathar, polythene etc., CDM should be well decomposed.
- 17. The plants/grass supplied should be in good quality, healthy and free from disease.
- 18. The contractor/tenderer must be enlisted as Horticulture Category Contractor.
- 19. The contractor should be supply the total quantity of all items mentioned in schedule of quantity/agreement. If contractor failed to supply the materials as per agreement or as per direction, then the recovery shall be made as per justified rate.

Dy. Director (Hort.)-III/DDA